10:27 71 3 pek.

8 e.mail.ru

. Au=sme, r<3,

u(3,p)=cosp.

" -
2. Haiitn pemienue ypasueHusd Jlamnaca B npAMOYToJIbBHHKE )< x < 7, 0 < y < — , €CJIH

.3
u(0,y)=0,u_(z,v)=0,u(x,0)=0,u(x, %] = Sin E,\‘

—_—

3. Pemmuts Au=0,—-0<x<oo,0,<y<2r;u(x,0)=0,
u(x27)=1Lmpun x < Lu(x,2x)=0,mpu x > 1
‘u” =u_+e cosIx+t,t>0,0<x<7;
4 u . (0,0)=0, u (m,t)=2n,
u(x,0) =4cos5x+x°,
u,(x,0)=-1.
5. u, = %u_u O0<x<oo,t>0

. Jﬁin x,x €[0; 7]
10,x 2[0; 7]

6. U,=U.,I>0,x>;

il

u(0,/))=0  u(x,0)=2smx u, (x,0)=2cosx.

u (0,7) =0, u(x,0) , u,(x,0) = 0. Haiitn u(x,?%} 1 HApUCOBaTh rpaduk.
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